Segndion Werds

—_ > C P U

S

N 3 D un o

a y

%) N o —

t u v w x
h
t
f
r
d

N T QQ o ¢

o O

E oD > =

N X - —m 1T C

n > Cc O 4Y—
- 3 D) + O
L P 44— . T

O w N T O

T

were

of
said
says

are

the

was

do

is
his

to
today




Cemmen Eegniion Werts

X ==— > £ ¥ 44— N T QQ a9 <
S N 3 oD w o ot O o B £
> £ P U4 - T QO 9 ¢ N —
> O » N T '— O T N D ¥
L L 4 = W O O ¢ N N X --—
DD W O O TB—6O 8 £ o w -
44— . T QO O € N N X --— i
<+ 9 O O N E ¥ I - o
4+ 4 C N — n > C
B P Uﬁ E o> x b 3 O
O 2 N — X = > £ + 4= - T
—_ ¥ B D) W N T O

were

of
said
says

are

the

was

do

is
his

to
today




